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Part one: vocabulary
Directions: Complete the following sentences by using the most suitable word or phrases below each one.
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Drug errors ........c.c.c.. a high percentage of otherwise preventable death.
a. diminish with b. depart from ¢. conform to d. account for

Through an insurance plan, the insured person receives payment for the covered expenses and
T R the provider of health services.
a. resolves b. retains ¢. reimburses d. represents

In spite of a long interview with the patient, the doctor failed to ........ the required information.
a. emit b. elicit ¢. encounter d. embarrass

Efforts to preserve both plant populations and knowledge on how to use them for medicinal
purposes are needed to ............. traditional medicine as a profession.
a. obtain b. remain ¢. sustain d. contain

Traditional medicine practices have been adopted in different cultures and regions without the

parallel advance of internaticnal standards and methods for ................

a. initiation b. evaluation ¢. association d. contamination
The discovery of the drug was the result of several years of ............. not chance.

a. complication b. cessation ¢. inquiry d. impotency
Therate of ...covcvviininnneen is higher among newborus who are premature. ;

a. mortality b. survival ¢. promotion d. distraction
Some experiments have shown that ..... «esere. may work as well as real medicines.

a. dispersers b. injections c. disposables d. placebos
His new theory was .............. as he was unable to provide enough evidence,

a. adopted b. refuted c. endorsed d. advocated
There is no need for such .................. devices; ordinary and simple tools can do the job well.

a. sophisticated b. rudimentary c. crude d. redundant

|

[
i

i'




